

**RLE Events** 

07/21/2023 10:00 AM | Install Friday 07/22/2023 11:00 AM | Touch Ups 07/22/2023 06:00 PM | Event Date 07/23/2023 09:00 AM | Strike PO: Shipping Address: Hummingbird Nest 2940 Kuehner Dr, Santa Susana, CA 93063 Invoice Date:

Due Date: Upon Receipt

Salesperson: Angela Murelli

	93003				
Description		Qtty	Price		Total
Additional Detail	s				
	Console Tables - Florence Whitewash 6'L	1	\$200.00	Т	\$200.00
•		Total Additional Details			\$200.00
Cocktails					
	Cabanas Frame 10' X 10' - White Wash Wood with sheer gauze pullbacks and ceiling	4	\$1,750.00	T	\$7,000.00
	Carmel Curved Bar 6'L - Half Round Bar Reclaimed wood top with custom channeled bar front	2	\$950.00	Т	\$1,900.00
	Straight Barback 6'L - Gold Frame	2	\$250.00	Т	\$500.00
	Shakespear Garden Sofa - Black Metal Frame with custom patterned cushions	4	\$750.00	Т	\$3,000.00
	Florence Coffee Table - Rectangular White wash	4	\$225.00	Т	\$900.00
	Shakespear Garden Chair - Black Metal Frame with custom patterned cushions	4	\$350.00	Т	\$1,400.00
	Ottomans - Savannah Faux Bamboo - Black Frame	3	\$85.00	Т	\$255.00
	Ottomans - Savannah Faux Bamboo - Black Frame	1	\$85.00	Т	\$85.00
	Ottomans - Florence Upholstered w. Wood Base	8	\$65.00	Т	\$520.00

Description		Qtty	Price		Total
	Area Rugs - Natural Jute Scalloped Border 8' x 10'	4	\$250.00	Т	\$1,000.00
	Accent Pillows - TBD Design	12	\$35.00	Т	\$420.00
	Garden Dining Chair - Descanso Gardens - Black Frame Chair Cushion Cover: White Linen paired with the sitdown tables	15	\$30.00	Т	\$450.00
	Garden Props - Umbrella Square 10' Custom Cover TBD	7	\$650.00	T	\$4,550.00
			Total Cocktails		\$21,980.00
Reception					
11 11	Florence Rectangular Dining Table 10'x48" - White Wash Wood	6	\$550.00	Т	\$3,300.00
X	Florence Round Dining Table 72"D - White wash Wood	5	\$450.00	T	\$2,250.00
M	Napa Dining Chair Crossback White Wash Wood	135	\$24.00	Т	\$3,240.00
	Chandelier - Lyon Metal Whitewash 21"W X 35"H - 25lb - 150 Watts	4	\$450.00	T	\$1,800.00
	Siena Sofa 8'L - Off White w. Wood Base	2	\$450.00	Т	\$900.00
	Montreal Coffee Table - Gold Leaf Rectangular	2	\$250.00	T	\$500.00
	Budapest Armchair - Yellow Velvet & Burlap	1	\$200.00	T	\$200.00
	Budapest Armchair - Yellow Velvet 01	1	\$200.00	T	\$200.00
	Budapest Club Chair - Yellow Velvet	1	\$200.00	Т	\$200.00

Description		Qtty	Price		Total
	Budapest Side Chair - Yellow Velvet	1	\$200.00	Т	\$200.00
	Ottoman Pod 18"D - TBD Cover	4	\$50.00	Т	\$200.00
	Accent Pillows - TBD Design	12	\$36.00	Т	\$432.00
	OPTION 1: London Framed Molding Bar 8'L - White Washed with decal insert	2	\$950.00	Т	\$1,900.00
	OPTION 2: Carmel Straight Bar 10'L Reclaimed wood top With Custom patterned Channeled bar front	1	\$1,850.00	Т	\$1,850.00
	Moscow Barback - Gold	3	\$175.00	Т	\$525.00
	Boston Stage Front 6'x24" - White Washed with decal insert	4	\$325.00	Т	\$1,300.00
	Dance Floor - 20' x 20' TBD Design	1	\$0.00	Т	\$0.00
			Total Reception		\$18,997.00
Services					
	Installers: Install FRiday	6	\$500.00		\$3,000.00
	Installers: Touch Ups Saturday	6	\$350.00		\$2,100.00
	Installers: Strike Sunday	6	\$500.00		\$3,000.00
	Trucking: 24'L	3	\$500.00	Т	\$1,500.00
	Trucking: Fuel Surcharge	3	\$65.00	Т	\$195.00
	Manager: Layouts & Onsite	1	\$850.00		\$850.00
	Design: Decal Printing	1	\$1,250.00		\$1,250.00
	Certificates: Flame Proofing (TBD)	1	\$750.00		\$750.00
	Supplies: Misc	1	\$350.00		\$350.00
Please make che	ecks payable to Revelry, Inc.		Total Produ	cts:	\$41,177.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full		Total La	abor/Services/M		\$12,995.00
Please ready the contract and sign it			Tax Discou	es: nts:	\$4,072.84 (\$0.00)
Notes			Discou		(0.00)

Notes

\$58,244.84

(\$1,500.00)

Total:

Payments:

**Balance:** \$56,744.84